Lecture 1 Calculus 2/ Bilgi University (Spring 2022)
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Example 19

Find an equation of the plane through the point (2,4, —1) with normal
vector 1 = (2,3,4). Find the intercepts and sketch the plane.
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Example 20

Find an equation of the plane that passes through the points P(1,3,2),

Q(3,—1,6) and R(5,2,0).
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(d) The plane that passes through the point (6,0, —2) and contains the line z = 4—2¢, y = 3+5¢,

z="T4+4%.
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intersection of the planes and find the angle between the planes

Let 4+ y+2z=1 and =+ 2y + 2z = 1 be two planes. Find parametric equations for the line of
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Notes
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2. Let P=1(2,1,5),Q = (—1,3,4), R = (3,0,6) be points in the space. Find the area of the triangle
PQR.
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3. Let P = (3,0,1),Q = (-1,2,5),R = (5,1,-1),5 = (0,4,2) be points in the space. Find the

volume of the parallelepiped with adjacent edges PQ. PR, PS.
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4. Determine whether the points A = (1,3,2), B = (3,—-1,6),C = (5,2,0), D = (3,6, —4) lie in the
same plane.
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